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1. Introduction
In RAN4 #62bis first alignment results for the CA demodulation test with CA imbalance haven been compared. In this contribution we provide our alignment results for FDD.
2. Discussion
In [1], a demodulation test for carrier aggregation with power imbalance between PCell and SCell has been introduced. Figure 1 shows the alignment results for the FDD scenario.
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Figure 1: Alignment Results with 6 dB Imbalance

Based on the alignment results, we propose to define the performance requirements for 55% of the peak throughput.
Proposal: Performance requirements for FDD should be defined for 55% of the peak throughput.
3. Conclusion 
In this contribution we provide our alignment results for the CA power imbalance demod test. 
Proposal: Performance requirements for FDD should be defined for 55% of the peak throughput.
We recommend to take these results and the proposal into account in the definition of the performance requirements.
References

[1] R4-120537, “Requirement for CA demodulation with power imbalance”, Renesas Mobile, TSG-RAN4 #62, February, 2012
8
1

